ELEC 105
Fundamentals of Electrical Engineering
Spring 2010
Selected Answers to HW #10
Remember to explain all answers.  You will not receive credit for merely repeating an answer given here.  When an answer is not given below, it is either because the solution is trivial or because disclosure of the answer would give away too much of the solution to the problem.
5.35
b.  Resistor; R = 250 

c.  Inductor; L = 0.25 H
5.52
I = 1.4 L −45° A; IR = 1 L −90° A; IC = 1 L 0° A; [phasor diagram not required]
5.56
V1 = 6.73 L −38.5° V; V2 = 16.2 L −55.5° V
1.
a.  voltage magnitude = 1.0 V, phase = 0° at 1 kHz and 100 MHz

b.  voltage magnitude = 1.0 V, phase = 0° at 1 kHz, and voltage magnitude = 0.98 V, 

     phase = −12° at 100 MHz
2.
L = 1.27 H, C not given









































































































PAGE  

